
10
a501

section detail 

1 1/2"=1'-0"

4
a501

section detail
1 1/2"=1'-0"

3
a501

section detail
6"=1'-0"

6
a501

section detail
1 1/2"=1'-0"

7
a501

section detail
1 1/2"=1'-0"

2
a501

section detail
6"=1'-0"

13
a501

section detail
1 1/2"=1'-0"

5
a501

section detail
1 1/2"=1'-0"

1
a501

section detail 

1 1/2"=1'-0"

9
a501

section detail
1 1/2"=1'-0"

11
a501

section detail
1 1/2"=1'-0"

12
a501

section detail
1 1/2"=1'-0"

14
a501

stair detail
1/2"=1'-0"

8
a501

section detail
1 1/2"=1'-0"

+

David Penner, 204.475.8978
Helio Rodrigues, 204.774.0012
120 Yale Avenue, Winnipeg, MB, R3M 0L7
PROJECT

Windsor Park Library
ADDRESS

1201 Archibald Street

DATE
March 28, 2016

SCALE
as noted

a.501
section details

typical furring at sheet metal rainscreentypical furring at perforated rainscreen

typical diffuser at floor slab bearing diffuser at floor slab hanging (at floor slab bearing see 8/a501, similar)

typical diffuser at floor slab hanging

typical window head

typical curtain wall

typical roller blind

Issued for Construction: March 28, 2016

OWNER

NOTES:

THIS DRAWING IS THE EXCLUSIVE PROPERTY OF H5 
ARCHITECTURE AND DAVID PENNER ARCHITECT AND 
MAY NOT BE REPRODUCED AND/OR USED IN ANY 
MANNER WITHOUT THEIR EXPRESSED WRITTEN 
PERMISSION. THE GENERAL CONTRACTOR AND 
M A T E R I A L S S U P P L I E R / S S H A L L C H E C K A L L 
DIMENSIONS AND INFORMATION ON THIS DRAWING 
A N D R E P O R T A N Y D I S C R E PA N C I E S P R I O R T O 
COMMENCEMENT OF WORK. DO NOT SCALE THIS 
DRAWING.

CITY OF WINNIPEG - PLANNING, PROPERTY       
        &  DEVELOPMENT DEPARTMENT
MUNICIPAL ACCOMMODATIONS DIVISION
3rd FLOOR - 65 GARRY ST., WPG,  R3C 4K4

3"

1 1/2"typ.

R1
W6

± 
1/

4"
 to

 s
ui

t
flo

or
in

g 
de

pt
h

3"

3"
1 1/4"1 1/2"

2"

grade varies

t/o deck & main floor slab 100'-0"

t/o main floor slab 100'-0"

t/o roof deck 113'-8"

t/o parapet 115'-8"

va
rie

s

5"
2'

-1
1"

2'
-0

"

u/s mullion 110'-4"

CL roof frame bottom chord 110'-9"

concealed curtain 
wall anchor, typ.

2.5"x2.5"x3/8" x2"L steel clip 
angle, slotted holes for bolt 

connections, paint, typ.

fill void w/ low-density 
expanding foam, typ. 

all openings.

sealant, min. 1/2" recessed.

curtain wall, typ.

steel angle, see struct., 
paint exposed.

floor grille, see mech.; 
fasten to curtain wall & 
steel angle w/ countersunk 
#10 screws @16"o.c.

CIP conc.

NOTE: typical 
window sill

3"x4"x1/2" cont. steel angle 
c/w 1/2" exp. anchors 
@24"o.c., see struct.

steel angle 
ledger & spacer, 
see struct.

5"x5"x1/2" steel angle @threshold, 
weld to cont. embed plate, see struct.

3"x3"x1/2" cont. steel angle weld to 
cont. embed plate, see struct.

1/2"x2.5"W steel tab by roof 
frame supplier, welded to roof 
frame node, typ.

PWF 2x6 spacer.

deck framing, see struct.

pre-finished alum. flashing 
to match curtain wall, typ.

pre-finished alum. base flashing 
to match curtain wall, typ.

3"x3"x3/8" x2"L steel clip 
angle, weld to roof structure, 

slotted hole for bolt 
connection, paint, typ.

column, see struct., 
paint.

W5 W2

W2

W2

W2

R1
W6

F1

F1 F1F1

F1

W1

W1 W1W1

W1

1" bearing plate centreline offset
to roof structure node, typ. @ext. walls

5 5/8"5 1/2"

1/2"

block shear connector.

1.5"x1.5"x1/4" steel angle, 
weld to angle.

threshold, seal to AVB & 
flashing.

block shear connector.

horiz. rainscreen seam 
where indicated, lapped, 

see elev's.

wrap AVB over angle & 
secure in glazing pocket.

furring, see detail.

2"x2"x1/4" steel angle, 
cont., c/w 3/4" wood 
blocking; anchor to conc. 
w/ 1/4" screw fasteners 
@min.24"o.c., typ. conc. fill.

conc. fill.

3/4" PWF 
plywood 
formwork.

cont. 2"x1.5"x3/16" 
weathering steel bent plate 
furring, fasten to clip angle 

w/ 1/4" SS flat head bolt.

fasten rainscreen w/ #10 SS 
screws @16"o.c., typ.

fasten rainscreen w/ #10 SS 
screws, typ.

1.25"x2"x3/16" cont. 
weathering steel bent 
plate angle, fasten to 
block shear connector w/ 
2- 3/16" SS bolts.

1.25"x1.25"x3/16" 
weathering steel bent 
plate clip angle, fasten to 
block shear connector w/  
2- 3/16" SS bolts.

22ga weathering steel 
flashing, typ.

2"

ductwork & boot, 
see mech.

ductwork & boot, 
see mech.

2x4 blocking.

steel angle 
hanger, see 
struct, typ.

stretched membrane 
ceiling system.

sliding door system.

threshold, seal to AVB.

3"x3"x1/2" cont. steel angle welded 
to embed plate.

steel ledger & spacer, see 
struct.; fill spacer w/ expanding 
foam, seal AVB all around.

t/o main floor slab 100'-0"
t/o main floor slab 100'-0"

conc.slab, see struct.

compacted 
granular fill.

void form.

butted transition to flooring, 
flush, shim threshold as req'd.

sliding door frame 
beyond.

1/
4"

2 layers adhesive-laminated 3/4" PWF 
plywood blocking, fasten to steel angle w/ 
3/8" countersunk carriage bolts @12"o.c., 
wrap AVB up & over ledge as shown.

t/o door panel 106'-11 3/4"

u/s mullion 107'-6"

u/s sliding door frame 9'-11 3/4"

1/
4"

canopy.

1"

roller blind c/w alum. 
angle bracket as req'd to 
mount b/n mullions, horiz. 
position to suit mullion 
clearance.

1.5"x1.5" 16ga. steel clip angle 
c/w screw fasteners to suit.

acoustic panel.

HSS 3"x2"x5/16" reinforcement.

place glazing setting blocks 6" 
from vertical mullions, both 
panes above sliding doors. 3"x4"x1/2" cont. steel angle 

c/w 1/2" exp. anchors 
@24"o.c., see struct.

wrap AVB over angle & 
secure in glazing pocket.

furring, see detail.

22ga weathering steel 
flashing, typ.

6"

steel lintel, see struct., 
paint exposed.

steel column, see struct., 
paint.

sealent, recess 1/4".

1"

door.
built-up curtainwall cap 

beyond

6"
 ty

p.

multi-purpose

3/4" PWF 
plywood 
formwork.

2x4 blocking.

steel angle 
hanger, see 
struct, typ.

2 layers adhesive-laminated 3/4" 
PWF plywood blocking, fasten to 
steel angle w/ 3/8" countersunk 
carriage bolts @12"o.c., wrap AVB 
up & over ledge as shown.

6"

1/2" bitumen impregnated fibre 
expansion joint filler.

10"10"

1'-3"

3"x3"x1/4" galv. clip angle, sleeve 
into & fasten to curtainwall cap, 

lag bolt to deck, typ.

1 7/8" typ. @c.wall

1

1

1

2 1A1

11

1A

1

99'-9 1/4" t/o gr. beam

96'-2" t/o floor

5 
eq

. r
is

es

3'
-0

" n
os

in
g 

to
 t/

o 
ha

nd
ra

il,
 ty

p.

1 3/4"Øx1/8" steel tube 
handrail and supports, 
one side only. Weld & 

grind smooth all 
connections. Paint. 

11"x1 1/4"x1/8" steel bent 
plate stringer, both sides. 

Anchor at floor & grade 
beam with 2 - 3/8" conc. 

anchors, typ. Paint.

14 Ga. expanded steel 
mesh treads, typ. Paint.

Wall beyond.

Grade beam

4'-1"

1 
1/

2"
ty

p.

9" typ.1'-1"

3'
-0

"


